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6> — 13x% —29x+ 42 =0 X —6x* —36x+216=0
ST +6ex=0 X+ 5% —24x=0

X =3 —49x+ 147 =0 70 + 8x% — 257x+210= 0
CA+ 1272 +32x=0 10x° — 11942 +279x— 162 = 0
10x° — 39x% — 373x + 360 = 0 X +5¢ —6x=0
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6 — 1332 —29x+ 42 =0
7

x=-,3,"12
6

CH+HI+6x=0
x=-6,—1,0

X —3x> —49x+ 147 =0
x=3,-7,7

X+ 127 +32x =0
x=—4,-8,0

10x° — 39x2 — 373x+ 360 =0

9
x=—,-528
10

HIZh:

X —6x> —36x+216=0
x=6,6,—6

X +5¢ —24x =0
x=-8,3,0

7 + 8¢ — 257x+ 210 = 0
6
~,5,—7
7

x:

106> — 119x% + 279x — 162 = 0

9
x=—,972
10

©+5¢—6x=0
x=1,-6,0

www.snowmath.com

Ad7:



https://www.snowmath.com

